= A

==

S BAENzeNE Ty (st 2)
SA - SA(SA) - NRAY - BES Oll &4 JIEH Hlusd

= HEAlIESHE 2,110,116 2,266,765 A 156,649

KEotset MEHEAl |4 1,812,507 2,004,074 A191,567

SMEAZSHEH =4 1,740,783 1,932,350 A 191,567

K=IHs S AL (SCP) 80,763 104,680 A23,917

310 2201 70,083 94,000 A23,917

02 =H=E=3 70,083 94,000 N23,917

OSCP =Xl 2= 70,083 94,000 23,917

Helgs & OlE 25t 358,900 353,350 5,550

201 2Eer2dh| 45,050 39,500 5,550

02 532l 2,550 3,000 A450

Odsz & dEBIHE 2,550 3,000 A450

03 A2 20,100 14,100 6,000

ONMIA XRIXHE 22l (UCLG) OtEHES Sl & Dt 6,000 0 6,000

=M EAISSEE(IUTC) Mea2 g 1,221,800 1,395,000 A 173,200

401 Al HIZ S 1,221,800 1,395,000 A 173,200

04 A€l 1,186,449 1,359,649 173,200

O=MEAl EHMEH(IUTC) a2t A= 1,186,449 1,359,649 A173,200

HHE2AZH (S M AIESHE) 297,609 262,691 34,918

el 2| 253,049 251,949 1,100

SR oAdl X& 253,049 251,949 1,100

204 X e=HHH| 13,040 11,940 1,100

01 HNMSHP=AAH| 2,900 1,800 1,100

(OFEATSy 2,900 1,800 1,100

Jl=gl 44,560 10,742 33,818

FA2E =2l 44,560 10,742 33,818

201 2Eer2dH| 6,160 7,342 N1,182

01 AtR2reltl 5,200 6,142 A942

ORAM2Y AR22lt] 5,200 6,142 A942

02 33294l 960 1,200 2240

ORAN2Y 33224 960 1,200 A240

405 AHabs =8| 35,000 0 35,000

01 X =ZSH=HI 35,000 0 35,000

O 2E8Xte 7¢ 35,000 0 35,000
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